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Verb(i)=Cl1 + - + C2 +2+ C3 + VPA3(i) + ConProl(i)
(21 e —
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gy o 9 Azl Loty Blizist il 8 —3
183 &1 A JwiYl e 1-3

Active Participle i)=C1 + - +1+C2 + - + C3 + EX(i)
A e (O jdedd ey gy J N 2 A CLL C2, C3 e
SV J b (3 e 2 S W Wl o5 a g eV Alad) Gy A EX (1)
RY-CEVENY PURNFEIISTIRE JIENEY ORIPNE
ALY U 3 VU Alad) Gy 016 J gk
(W — G AU VL dkall Gy 117 sk
18 51 Igy,c:zgcv.w\[\z\.sb-v})i
1 gl gl 2-1-3
Passive Participle i) =2+ - + C1+ 2 +C2+ 2 + 5 + C3 + EX(i)
:Joud) ot e 3-1-3
o il Really sadl o A 3OUN s A1 S Jadl) e ¢ Ll el LY aall
(el a5 s ) sl S 35S AL dARILL Al J g e el s 5 sl Ll

(J\i;) o —
Exaggeration forms (i) =C1 + - + C2 + 2 + 1+ C3 + EX(i)
(J5%9) Bheo —
Exaggeration forms (i) =C1 + - + C2 + 2 + s+ C3 + EX(i)
(J2) 3w -
Exaggeration forms (i)=C1 + - +C2 + - + s+ C3 + EX(i)
(J28) Bee —
Exaggeration forms (i)=C1 + - + C2 + - + C3 + EX(i)
() 3o —
Exaggeration forms (i) =C1 + - + C2 + - + s+ C3 + EX(i)
(Jerie) e —

Exaggeration forms (i) = + - +Cl + 2 +C2 + - + ¢+ C3 +EX(i)
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(Jris) dapo —
Exaggeration forms (i) =, + - +C1+ 2 +C2 + - + 14+ C3 + EX(i)
Fori=1,3,7,9, 13, 15 only
(3) B0 —
Exaggeration forms (i)=Cl + - +C2 + - + C3 + - +3+ EX(i)
Fori=1,7, 13 only
(Zdlié) oo —

@

Exaggeration forms (i)=C1 + - + C2 + - + )+ C3 + - +3+ EX(i)
Fori=1,7, 13 only

(J5518) i -
Exaggeration forms (i)=Cl1 + - +) +C2 + 2 + 5+ C3 + EX(i)
Fori=1,3,7,9, 13, 15 only
(3eb) e —
Exaggeration forms (i)=C1 + - +) + C2 + - + C3 + - + 3+ EX(i)
Fori=1,7, 13 only

Y i 4-1-3
bl el g Lah sad) 5 2 O Jadl) e £ LTy cdenld L5 01 al
G 5) il S 35S A A sl Alsel J g n Lital e 5 e Ll 1 6 0
(Jris) daeo -
Instrumental noun (i) =4 +-+CIl+ 2+ C2 + - + C3 + EX(i)
Fori=1,3,7,9, 13, 15 only

(dosr) e -
Instrumental noun (i) =4 + - +C1 + 2+ C2 + - + C3 + EX(i)
Fori1=2,4,8, 10, 14, 16 only
(Jris) o —
Instrumental noun (i) =4 + - +Cl + 2 +C2 + - +1 + C3 + EX(i)
Fori=1,3,7,9, 13, 15 only
(V) dxps —
Instrumental noun (i)=C1 + - +C2 + I +1+ C3 + EX(i)
Fori=2,4, 6,8, 10,12, 14, 16, 18 only
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(J556) 3o -
Instrumental noun (i)=C1 + - +) +C2 + 2 + 5+ C3 + EX(i)
Fori=1,3,7,9, 13, 15 only
(J8) dreo —
Instrumental noun (i) =Cl1 + - + C2 + - +1+ C3 + EX(i)
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(Jis) ape =
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() B -
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() dxpo —
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Instrumental noun (i) =4 + - +Cl1 + 2+ C2 + 2 + C3 +EX(i)
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(4 5518) G —
Instrumental noun (i)=Cl1 + - +) +C2 + 2 + 5+ C3 + EX(i)
Fori1=2,4,8, 10, 14, 16 only
(3lsd) 2npe -
Instrumental noun (i) = C1 + - + C2 + - + C3 + EX(i)
Fori=2,4, 6,8, 10, 12, 14, 16, 18 only
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() B —
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Meem gerund(i)=s+-+Cl + 2+ C2 + - + C3 + EX(i)
Fori=1,7, 13 only
(Jrie) B -

Meem gerund(i)=s+-+Cl + 2+ C2 + - + C3 + EX(i)
Fori=1,7, 13 only

(xily 2
Meem gerund(i)=s+-+Cl + 2+ C2 + - + C3 + EX(i)
Fori=2,8, 14 only

(3lsia) Baeo -
Meem gerund(i)=s+-+Cl + 2+ C2 + - + C3 + EX(i)
Fori=2,8, 14 only
(rie) Ws —
Meem gerund(i) = +-+Cl1+ 2+ C2 + 2 + C3 +EX(i)
Fori=2,8, 14 only
25}\ )v\.qﬂ.é 3_1_5

VI (ol iz e 68 ((oDad) e mendy (3R b Bty Rwld s B0l
ol g A cc;b}fj 8;}: gea é(c))’\;.';) g @.i PRI Jadll e O 13

QO
Nomen Vicis(i) = C1 + -+ C2 + 2 + C3 + EX(i)
Fori1=2,4,8, 10, 14, 16 only
C2=s30r C2=¢
Nomen Vicis(i) = Cl1 + -+ C2 + - + C3 + EX(i)
Fori=6, 12, 18 only

C2<> sand C2 <>y
Nomen Vicis(i) = C1 + -+ C2 + - + C3 + EX(i)
Fori=6, 12, 18 only

IZ\:,..&\ )v\.qﬂ.é 4_1_5
.(al;é) o ety dld dreo 3 U jal
(1) B -

Quality Gerund(i)=C1 + -+ C2 + - + C3 + EX(i)
Fori=2,8, 14 only
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By A S Jw¥) e 2-5
:g\-fﬂ\ 2l 1-2-5
(&) as —
Gerund(i)=!+-+Cl+ 2+ C2 + - + )+ C3 + EX(i)
Fori1=1,3,6,7,9,12, 13, 15, 18 only
(3d) 1ana) cmol ((C2=5 or ) oS 3G
Gerund(i)=!+-+Cl + - +V+ C3 + EX(i)
Fori=2,4,6,8,10,12, 14, 16, 18 only
(Jesd) a0 -
Gerund(i)=<+-+Cl+ 2+ C2 + - + ¢+ C3+EX(>i)
Fori1=1,3,6,7,9,12,13, 15, 18 only

(al:w) taal) comol (C3 =34 or ) O 3B
Gerund(i) =<+ -+ Cl + 2+ C2 + - + s+ EX()
Fori=2,4,6,8,10,12, 14, 16, 18 only
(Madh) tira)) comnal (C3 =5 ) O 13
Gerund(i)=<+-+Cl+ 2+ C2 + - + s+ EX()
Fori=2,4,6,8,10,12, 14, 16, 18 only
(eliny trs -
Gerund(i)=s+-+Cl+ :+1+C2 + - +C3 + EX(i)
Fori=2,4,6,8,10,12, 14, 16, 18 only
ey taaall Ll sl (Cl<> ) 08 13
Gerund(i)=Cl + -+ C2 + 2 + 1+ C3 +EX(i)
Fori1=1,3,6,7,9,12,13, 15, 18 only
() G
Gerund(i)='+o + =+ Cl1+ - +C2 + - +)+ C3 +EX()
Fori1=1,3,6,7,9,12,13, 15, 18 only
(Jlgl) & -
Gerund(i)='+Cl+ 2 +&+-+C2 + - +1+ C3 + EX(i)
Fori1=1,3,6,7,9,12,13, 15, 18 only
(Dbl Brpo -
Gerund(i)='+Cl+ 2 +C2 + - +C3 +-+1+C3 + EX(i)
Fori1=1,3,6,7,9,12,13, 15, 18 only
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(o) 3o —
Gerund(i)=<+-+Cl+ - +1+C2 + 2 +C3 + EX(i)
Fori1=1,3,6,7,9,12,13, 15, 18 only

(J28) 3o -
Gerund(i) =< +2+Cl+ - +C2 + - +C3 +EX(i)
Fori=1,3,6,7,9,12,13, 15, 18 only
(Jlrigul) dxee —

Gerund(i)='+w + -+ @+-+Cl+ 2 +C2 + - + 1+ C3 +EX(i)
Fori=1,3,6,7,9,12,13, 15, 18 only

AN ) sl (C2= 3 or ¢ ) 08 B
Gerund(i)='+w + -+@+-+Cl + - +1 + C3 + EX(i)
Fori=2,4,6,8, 10,12, 14, 16, 18 only
(JWosndl) B -
Gerund(i)='+Cl+ 2+ C2 + - + ¢+ C2+-+1+C3 +EX(i)
Fori1=1,3,6,7,9,12,13, 15, 18 only
(el 2 -
Gerund(i)='+Cl+ 2+ C2 + - + 5+ -+ 1+ C3 + EX(i)
Fori1=1,3,6,7,9,12,13, 15, 18 only
(Jlasdl) 2 -
Gerund(i)='+Cl+ 2+ C2 + - + ¢+ C3+-+1+C3+EX(i)
Fori1=1,3,6,7,9,12, 13, 15, 18 only
G A LN JW J sadd) sl =) 1 ol yball 2-2-5
Fori=1,7, 13 only
3 A yhae 3-2-5
i=2,4,6,8,10,12,14, 16, 18 only 0= 3 o &)1 5 01 jdae oo 5 slamShe
(383)) dxpes —
Nomen V1015(1)—‘+ +Cl+ 2+C2 + - +1+C3 +EX()
(Edl) 1aaal ool (C2= 3 o1 ) O 136
Nomen vicis(i)=)+-+Cl + 2+ C2 + - +C3 + EX(i)
(is) 32 -
Nomen vicis(i) =<+ -+Cl + 2+ C2 + - + ¢+ C3 + EX(i)
(al:w) tiana)) Coeol ((C3 =9 or ) O 3B
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Nomen vicis(i) = u+ +C1+ +C2 + - +C3 +EX(1)
(:uw) taeall cousl (C3=6) O 13
Nomen vicis(i) =<+ -+Cl+ 2+ C2 + - + & +EX(i)
CEFEE
Nomen vicis(i)=a+-+Cl + 2+ 1+ C2 + - +C3 + EX(i)
() o -
Nomen vicis(i)) =+ o+-+Cl+ -+ C2 + - +1+C3 + EX(i)
(U53) w5 -
Nomen vicis(i) =)+ Cl + 2+ &+ -+ C2 + - +1+ C3 + EX(i)
(9 2as —
Nomen vicis(i)='+Cl + 2+ C2 + - +C3 +-+ 1+ C3 + EX(i)
CEE R
Nomen vicis(i) =<+ -+ Cl + -+ 14+ C2 + - + C3 + EX(i)
(31e8) 20 -
Nomen vicis(i)=<+-+Cl + -+ C2 + - + C3 + EX(i)
(aS\;LLs) Axgo —
Nomenv1c1s(1)—‘+u»+ +a+-+Cl+ 2+C2 + - +1+C3+ EX()
(W\) taa)) Coeol ((C2=9 Or ) O 3B
Nomen vicis(i) =+ s+ -+ +-+Cl + - +1 +C3 + EX(i)
() 5 -
Nomen vicis(i))='+Cl + 24+ C2 + - + s+ C2+-+1+ C3 +EX(@)
(38) 3 -
Nomen vicis(i)='+Cl + :+C2 + - + s+ -+ )+ C3 + EX(i)
() B -
Nomen vicis(i)='+Cl1 + 2+ C2 + - + ¢+ C3 +-+1+C3 + EX(i)
83 21 AL ) QWY 0 3-5
L Je Y el 1-3-5
QIEDRTRRE

Gerund(i)=C1+ -+ C2 + 1 + C3+-+C4+EX()
Fori=2,4,6,8,10,12, 14, 16, 18 only

(Y5 tianall Ll el «(C1 = C3) and (C2 = C4) oS 136
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Gerund(i)=C1 + - +C2 + - + C3 +-+ 1+ C4 + EX(i)
Fori=1,3,6,7,9,12,13, 15, 18 only

(33 31 kel 1 JWd Jsadll gl =) 1 ol il 2-3-5
Fori=1,7, 13 only
:Sjl\ )-\-.G.A 3_3_5
Nomen Vicis(i) =C1 + -+ C2 + 2 + C3 +-+C4 + EX(i)
Fori=2,4,6,8,10,12, 14, 16, 18 only
sl Al U QW) e 4-5
:‘;Loiﬂ\ gl 1-4-5

(o) aas —
Gerund(i)=<+-+Cl+ 2 +C2 + 2 + C3+:+C4+EX(>)
Fori=1,3,6,7,9,12,13, 15, 18 only
(Il B -
Gerund(i)='+Cl+ 2 +C2 + - +o +-+C3 +-+1+C4 +EX(i)
Fori=1,3,6,7,9,12,13, 15, 18 only
(sl 380 -
Gerund(i)='+Cl+ 2 +C2 + - +C3+-+C4 +-+1+C4+ EX(i)
Fori=1,3,6,7,9,12,13, 15, 18 only

G s J1 JWN J sadll gl =) 1 o) yiall 2-4-5
Fori=1,7, 13 only
25}\ )W 3_4_5
(“/ﬂa/,:) W _
Nomen vicis =< +-+Cl + <+ C2 + 2 +C3+:+ C4+ EX(i)
Fori=2,4,6,8,10,12, 14, 16, 18 only
(2\.53)\:53\) oo —
Nomen vicis=!+Cl + -+ C2 + - + o +-+C3+-+ )+ C4+ EX(i)
Fori=2,4,6,8,10,12, 14, 16, 18 only
(IMd)) o —
Nomen vicis =+ Cl + 24+ C2 + - + C3 +Z+ 1+ C4 + EX(i)
Fori=2,4,6,8,10,12, 14, 16, 18 only
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e’JU\ )}.o.@l\ :wig‘ )»\—.G-L\ 1_1_6
KOV=40r7o0rl0orl6orl9

and C2 =« or & or £ 0r  OF ¢ OF & OF U+ OF U OF U= OF U= Of -
orLorg org or<soror<ordoreoryoreore

(L) b+ -+t -+ — \+—+;+°—+2C
(\_;2;) \+i+z5+L§ “«— \+i+;+L§
(oo yaalt 2-1-6
o3yl 1-2-1-6

C2=C3
Cr R —H3 - 3C+,_/_+3C+_
B N M1 2-2-1-6
KOV =18 or 19 or 20 and NOC =2
KOV =19 and NOC =4

Root = <wor s or Jidor a)or s ordab or < or a* or s or
Jsi or 4 or £ or < or & and NOC =4
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